# CH5-prog.py
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for i in range(n+1):

print(i)
affichelbis(n):
i=0
while i<n+1:
print(i)
i+=1
affiche2(k):
if k<10:
print(k)
affiche(k+1)

from turtle import *

lst=
a=20
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[160,90,80,70,60]

carre(d):

for i in range(4):
forward(d)
left(90)

dessinel(liste,angle):

for d in liste:
left(angle)
carre(d)

dessine2(liste,i,angle):

if i>=0 and i<len(liste):
left(angle)
carre(liste[1])
dessine2(liste,i+1,angle)

produit(n,p):

if p==0:
return(0)

else:
return(n+produit(n,p-1))

factoriellel(n):
res=1
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for i in range(1,n):
res=i*res
return(res)

factorielle2(n):
if n>0:
return(n*factorielle2(n-1))
else:
return(1l)

factorielle3(n,acc):

if n>0:
return(factorielle3(n-1,acc*n))

else:

return(acc)
fibol(n):
u,v=0,1
for i in range(n):
u,V=v, u+v
return(u)
fibo2(n):
if n==0 or n==1:
return(n)
else:

return(fibo2(n-1)+fibo2(n-2))

fibo3(n,a,b):

if n==0:
return(a)

else:
return(fibo3(n-1,b,a+b))



